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Match #4


These questions are for use in the Virginia High School League’s Scholastic Bowl State Tournament. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Participants must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before the end of the state tournament is prohibited. 

(b)
Releasing these questions to entities outside Virginia is prohibited. 

First period: 15 tossups, 10 points each
1.
He died two weeks after reprimanding his son Edward for consorting with the actress Nellie Clifden. His wife entered mourning for the next forty years. His forty grandchildren included four European monarchs. His future wife turned down Prince Alexander of the Netherlands, overcoming the objections of her uncle, William IV. What Prince of Saxe-Coburg and Gotha was the husband of Queen Victoria? 


ANSWER: Prince Albert
2.
Characters such as Lampito, Cleonice (klee-oh-NEE-say), and Myrrhine (mih-REE-nay) can either be caricatures of women or very early feminists. Its title roughly translates to ‘She who disbands armies.’ The title character was not so much against war, but against war between fellow Greeks.  In what play by Aristophanes does the title character convince the women of Greece to stop sleeping with their husbands until the Peloponnesian War ends? 


ANSWER: Lysistrata
3. 
In this film, John Candy and Carrie Fisher had cameo roles as a police detective and a jilted ex-fiancée. Its two protagonists reunited with Mr. Fabulous, Donald ‘Duck’ Dunn, and Matt ‘Guitar’ Murphy to raise $5,000 for their orphanage. Directed by John Landis, this is what film based on a Saturday Night Live sketch, featuring Dan Aykroyd and John Belushi who starred as a pair of brothers ‘on a mission from God?’

ANSWER: The Blues Brothers
4.
At the bottom of the ocean, an estimated ten trillion tons of this gas forms a clathrate with water. However, it is nearly 25 times as strong a greenhouse gas as carbon dioxide, and it is also being released due to permafrost melting. Burning one molecule of this gas requires two diatomic oxygen molecules, a reaction yielding a carbon dioxide molecule and two water molecules. What simplest hydrocarbon has the formula CH4?


ANSWER: methane
5.
Taxonomically known as Allium cepa, this plant contains sulfoxides that break down into mild irritants. It was worshipped in ancient Egypt as its spherical shape and its rings represented eternal life. Varieties of them include New York Bold, Peruvian Sweet, Western Yellow, and Vidalia. Name this many-layered vegetable known for causing crying when sliced open.

ANSWER: onion
6.
Named after the German physicist who discovered it in 1913, it won its namesake the 1919 Nobel Prize in Physics.  It was also independently discovered by Antonio Lo Surdo.  It has a first-order linear effect and a second-order quadratic effect.  Name this analogue of the Zeeman effect that is the splitting and shifting of atomic spectral lines due to an electric field.

ANSWER: Stark effect

7.
They sought to ‘give a satisfactory answer to all the objections which shall have made their appearance,’ and were written in response to pseudonymous essays by ‘Cato’ and ‘Brutus.’ This collection of eighty-five essays was written under the pen name Publius. They appeared in The Independent Journal and The New York Packet between October 1787 and August 1788. Alexander Hamilton, James Madison, and John Jay wrote what essays that advocated the ratification of the Constitution? 


ANSWER: Federalist Papers
8. 
It was founded in 1969 by Angelo Mozilo. From 1982 to 2003, its stock delivered a 23,000% return, but began a sharp turn downwards after accusations of unfair lending practices to minorities and to victims of Hurricanes Katrina and Rita.  Following a virtual halt in trading on the secondary mortgage market, what company found itself on the verge of bankruptcy, prior to a January buyout by Bank of America?


ANSWER: Countrywide Financial

9.
He sailed from Scotland to California in 1876 in order to marry Fanny Vandegrift Osbourne. His experience in America provided inspiration for An Amateur Emigrant and The Silverado Squatters. He went around the world looking for a healthy climate, writing The Master of Ballantrae and the poetry collection A Child’s Garden of Verse. When he died in 1894 at age 44, who had also written Kidnapped, The Strange Case of Dr Jekyll and Mr Hyde, and Treasure Island? 


ANSWER: Robert Louis Stevenson
10.
Serge (SAIR-gay) Lifar added two additional ones, but they are rarely used today. Thoinot (twah-NOH) Arbeau (ar-BOH) developed them, and Pierre Beauchamp codified them. One pair of them is similar, except in the distance between the feet; another pair of them is likewise similar to each other. Another one has the feet pointing in opposite directions, with the heel touching the other foot’s toes. What are these fundamental techniques of a variety of dance? 


ANSWER: five positions of ballet dancing (accept ‘five foot positions’ and prompt on partial answers)

11.
He was the oldest son of Geb and Nut (NOOT) and was depicted as a green-skinned ruler. Unimportant in early traditions, by the Middle Kingdom, he had taken over the role of Anubis. By the Ptolemaic era, he was merged with Apis to form another god. In his most familiar myth, he was murdered and his body split into fourteen pieces. His wife and son then gathered all pieces but one, and the other gods resurrected him. Horus was the son of, Isis was the wife of, and Seth was the killer of what Egyptian god?


ANSWER: Osiris
12.
This author associated some of his characters with the number 359195. He wrote The Angry Hills about World War II-era Greece and Battle Cry about U.S. Marines in World War II. He wrote Redemption and Trinity about the struggles of the Larkins, Macleods, and Hubbles, three families in Northern Ireland. Who wrote about Ari Ben Canaan helping to found the State of Israel in Exodus? 


ANSWER: Leon Uris
13.
Its only President was Chukwuemeka (choo-kway-MAY-kah) Ojukwu (oh-JOO-kwoo) and its capital was Enugu. In 2000, Olesegun Obasanjo pardoned the soldiers who fought for it. The war to conquer it led to the founding of Doctors Without Borders in 1971.  Between 1967 and 1970, the Igbos of southeastern Nigeria attempted to form what independent country? 


ANSWER: Biafra
14.
THIS IS A COMPUTATION QUESTION. Convert the binary number 1001011 (read as: one-zero-zero-one-zero-one-one) into a decimal number, given that 64 is the biggest power of 2 smaller than the answer.

ANSWER: 75
15.
Often confused with schist (SHIST), this foliated rock features coarse banding, displaying alternating layers of light and dark minerals, including feldspar, quartz and hornblende.  Usually found in the base of folded mountain systems and formed by metamorphic processes, sandstone, shale and granite all can be shaped into what rock?

ANSWER: gneiss (NICE)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What five-letter word can mean either unadorned or a vast area of flat land? 


ANSWER: plain
1B.
Richard Dean Anderson played what employee of the Phoenix Foundation, a secret agent that was able to jury-rig any household item to escape a televised death? 


ANSWER: (Angus) MacGyver
2A.
Gary Condit was never an official suspect in the disappearance of what Washington D.C. intern in the summer of 2001? 


ANSWER: Chandra Levy
2B.
THIS IS A COMPUTATION QUESTION. How much money is 6 quarters, 14 dimes, 22 nickels, and 9 pennies?

ANSWER: $4.09
3A.
Overly salty sweat and overly thick mucus are symptoms of what hereditary disease?

ANSWER: cystic fibrosis
3B.
In 1906, the Rodeo (roh-DAY-oh) Land and Water Company established what city that is adjacent to Los Angeles and West Hollywood? 


ANSWER: Beverly Hills, California

4A.
THIS IS A COMPUTATION QUESTION. What is the value of 7 cubed minus 3 to the fourth?

ANSWER: 262
4B.
What insect spreads sleeping sickness?

ANSWER: tsetse fly (tsee-tsee)

5A.
What former Prime Minister and leader of the Pakistan People’s Party was assassinated in December 2007 after returning to her home country?

ANSWER: Benazir Bhutto
5B.
The Member of the Wedding and The Heart is a Lonely Hunter are novels written by what Southern woman? 


ANSWER: Carson McCullers
6A.
What type of conic section is y = 4 times the quantity x minus 2 squared plus 6?

ANSWER: parabola
6B.
What German invented movable type printing and then produced 180 Latin copies of the Bible? 


ANSWER: Johann Gutenberg
7A.
What type of electromagnetic radiation was once called Rontgen (ROANT-ghen) rays? 


ANSWER: X-rays

7B.
Words such as smog, brunch, motel, and spork are what class of words formed by blending parts of two or more other words?

ANSWER: portmanteau(s)

8A.
Which of Shakespeare’s sonnets starts: ‘Shall I compare thee to a summer’s day?’


ANSWER: Shakepeare’s Sonnet 18
8B.
What Pablo Picasso painting featuring a young Parisian sold for $104.1 million in 2004? 


ANSWER: Garçon à la Pipe (gar-sohn ah lah peep) or Boy with a Pipe
9A.
The German town of Lubeck was the center of what league that dominated Baltic Sea trade between the 13th and 17th centuries? 


ANSWER: Hanseatic League

9B.
On February 15, 1971, what unit of currency was no longer equal to 20 shillings? 


ANSWER: British pound sterling (accept Irish pound or Irish punt)

10A.
The songs ‘One O’Clock Jump’ and ‘April in Paris’ are associated with what jazz pianist? 


ANSWER: Count Basie
10B.
THIS IS A COMPUTATION QUESTION. What is the distance between the points (2, 6) and (14, 1)?

ANSWER: 13 units

Third period, 15 toss-ups, 10 points each

1.
Its derivative is tangent times itself, and like the tangent, it is undefined at 90 degrees.  It shares its name with a line that intersects two or more points on a curve. Name this trigonometric function that, for an acute angle in a right triangle, is equal to the hypotenuse over the adjacent side and is the reciprocal of the cosine.

ANSWER: secant
2.
This novel had a sequel, Sweet Thursday. Locations in it include Western Biological Laboratories, the Bear Flag Restaurant, and Lee Chong’s Heavenly Flower Grocery. Its plot, such as it is, centers on Mack, the leader of a group of vagrants, throwing two parties for his friend Doc. What novel by John Steinbeck is set in Monterey, near a sardine fishery? 


ANSWER: Cannery Row
3.
Octave Mirabeau paid 300 francs for this painting in 1889. It was sold in 1987 to Alan Bond for $53.9 million, but Bond could not pay for it, and it was then sold to the Getty Museum. It was submitted to the 1889 exhibition of the Society of Independent Artists, along with Starry Night Over the Rhone. What is this painting of blue flowers by Vincent van Gogh? 


ANSWER: Irises
4.
A giant solar barge belonging to him was discovered in 1954, but the only known likeness of him is a three-inch-tall carving. Unlike his father Sneferu, he was regarded as a tyrant. His funerary cult survived 2,000 years until the 26th Dynasty. He was the second Pharaoh of the 4th Dynasty, reigning from 2589 to 2566 B.C. Who ordered the building of the Great Pyramid of Giza? 


ANSWER: Khufu or Cheops
5.
It is used in the purification of aluminum and uranium, to remove oxide impurities from stainless steel in pickling, and to etch glass due to its ability to dissolve glass by reacting with silicon dioxide.  It is highly corrosive and is a precursor to Teflon.  Name this acid that is an aqueous solution with formula HF.

ANSWER: hydrofluoric acid or hydrogen fluoride
6.
This story has a similar ending to the first century BC story of Rhodopis. Another parallel story is the 9th century AD Chinese story of Ye Xian (yay shee-an), although a magic fish enabled the quick wardrobe changes. In 1697, Charles Perrault made some more changes, including letting the two evil stepsisters marry lords, adding an orange carriage, and making the footwear non-stretchable. What fairy tale ends with the title character putting on the glass slipper? 

 
ANSWER: “Cinderella”

7.
It was developed in 1973 by a British mathematician but kept secret. Its public implementation was made in 1977 by three MIT scientists. Its security is provided by two mathematical functions: the first is factoring two very large numbers, the other is finding the eth roots of a modulo composite number whose factors are unknown. It is the first known algorithm suitable for both signing as well as encryption. Give the name for this algorithm used for public key cryptography that can be used in PGP along with DSA. 

ANSWER: RSA (do not accept PGP or DSA)

8.
While at Salem College, he was college football’s youngest head coach, but the school announced it was dropping its football program.  Offensive coordinator for Tommy Bowden at both Tulane and Clemson, he left Clemson in 2001 to replace Don Nehlen.  Riding Patrick White and Steve Slaton to Big East titles is what coach, who has reportedly left a trail of destruction in his wake as he departs to take over the reins at the University of Michigan?

ANSWER: Rich Rodriguez
9.
This five-letter word comes from a Latin word meaning ‘bent.’ When someone is ahead of or behind this item, they are either knowledgeable about news or struggling to keep up.  A teacher might use this word to describe a grading system where the top scorers get a high grade, regardless of how low their actual score was. Throwing someone what word either means taking someone by surprise or delivering a breaking pitch in a game of baseball? 


ANSWER: curve
10.
In 2002, this test’s ‘Numerical Operations’ section was dropped in favor of an ‘Assembling Objects’ section. Its verbal score is based off the score in its Paragraph Comprehension and Word Knowledge sections. People who are in Category IV in its scoring must get a high school diploma before enlisting. What multiple choice test is administered by the U.S. Military Entrance Processing Command and given to high school students? 


ANSWER: Armed Services Vocational Aptitude Battery or ASVAB (az-vab)

11.
This city is surrounded by Hebei (HAY-bay) province and its ports include Tanggu and Hangu. Near the Gulf of Bohai, it is at the junction of the Grand Canal and the Hai River. It is one of China’s four municipalities. After Shanghai and Beijing, what is the third most populous metropolitan area in China?


ANSWER: Tianjin, China or Tientsin, China

12.
In 1824, he created the Bureau of Indian Affairs within his War Department. His wife Floride was the driving force behind the Petticoat Affair. In 1837, he proclaimed slavery was a ‘positive good.’ His son-in-law is the namesake for Clemson University. Along with George Clinton, he is one of two Vice-Presidents to serve two Presidents. What first Vice-President to resign his office was also a Senator from South Carolina? 


ANSWER: John C. Calhoun
13.
At Woodstock 1999, this artist paid homage to Jimi Hendrix and set his guitar on fire after playing The Star Spangled Banner.  His latest album, featuring collaborations with Serj Tankian, Lil' Wayne and Mary J. Blige, is titled Carnival II: Memoirs of an Immigrant. A native Haitian, this is what childhood friend of Lauryn HIll and former member of The Fugees (FOO-gees)?

ANSWER: Wyclef (WHY-klef) Jean (zhawn) (accept either by itself)

14.
One of this poem’s underlying themes may have been its author’s unhappy marriage to Vivienne Haigh-Wood. The last of its five stanzas contains the phrase ‘falls the shadow’ and text from the Lord’s Prayer. Its first stanza proclaims ‘we are … / Leaning together / Headpiece filled with straw.’ The line, ‘This the way the world ends / Not with a bang but a whimper,’ is in the last stanza of what poem by T.S. Eliot? 


ANSWER: “The Hollow Men”

15.
This extensor muscle is exercised in ‘skullcrushers’ or close grip bench presses. Although its name technically has two words, the second word, brachii (BRAY-kee), is rarely used. It has three origins: one on the scapula and two on the humerus. Name this upper arm muscle whose name comes from the Latin for three-headed.

ANSWER: triceps brachii

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Recent research has shown that these objects exist as a halo of matter around the center of young galaxies, usually encircling a super-massive black hole.  The large amount of redshift they exhibit implies that they lie in distant galaxies, but dwarf the energy output of any other known extra-solar objects.  What are these distant space objects, known as quasi-stellar radio sources?

ANSWER: quasars
2.
It was proposed by a Republican Senator from Utah and a Republican House member from Oregon. It did not help unemployment, as it increased from 7.8% in the year it was passed to 25.1% three years later. It was signed into law on June 17, 1930, despite the objections of 1,028 economists. What tariff is often blamed for prolonging the Great Depression? 


ANSWER: Smoot-Hawley or Hawley-Smoot
3.
He married his cousin Mahalath when he found his Canaanite wives displeased his parents. He was known by either of two names that meant ‘hairy’ and ‘red,’ a reference to him being born covered in red hair, with his twin grabbing his heel. He sold his birthright for a bowl of lentil soup. Later, his brother stole his birthright from him, with the help of his mother Rebekah. Who was the twin brother of Jacob? 


ANSWER: Esau or Edom
4.
This language got its name during the Mughal era, and is also called ‘the army language.’ Although it is Indo-European, it uses post-positions instead of prepositions, and verbs are conjugated to agree with the object of the sentence. Although Punjabi has more speakers, it is, along with English, the official language of Pakistan. What variety of Hindustani is written in an Arabic-like script but is otherwise similar to Hindi?

ANSWER: Urdu (prompt on ‘Hindustani,’ DO NOT accept ‘Hindi’)
5.
THIS IS A COMPUTATION QUESTION. What is the volume of a cylinder of height 16 feet and radius 4 feet, given that volume equals pi r squared times h?

ANSWER: 256 pi cubic feet
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

